Understanding the concept of number.

(KavTte KUAION TTPOG TA KATW YIa EAANVIKI HETAPPOON)

Number is the most important concept in all of mathematics and
in every other STEM field.

Mathematics is the science of measure and number.

1. We can only get an idea of size (magnitude) by comparing an
actual size to another size or magnitude - initially only
homogenous (same kind) sizes, for example line segment length
compared with line segment length, area compared with area,
etc. Such a comparison is called a ratio.

2. We can choose a common size or magnitude as the
measuring tool. We call this the unit and we use the unit and/or
equal parts of it to:

(i) first determine if the ratio has quotientness (TTnAikoTnTO —
Elements, Book V, Definition 3) (*) - meaning that both the
antecedent and consequent parts of the ratio can be measured
by the unit and/or equal parts of it. Once this is established, we
choose the

(ii) consequent as the measuring part - this is simply convention
because the Greeks viewed the antecedent part of the ratio as
that size being measured or under consideration.



3. Since the consequent of ratios can be any size, we disregard
size to establish those special fractions called NATURAL
NUMBERS - numbers whose antecedents (numerators) are
multiples of the unit and whose consequents (denominators) are
the unit. Natural numbers assume an ABSTRACT UNIT, i.e a unit
whose size and type is generic (irrelevant). For example, 1 can
describe the measure of length, area, etc. even though the types
are different. Spaces included in the line segments only for clarity:

1 =measure (_:_)
2=measure (__: )
3=measure (____: )

And so on, all the counting numbers are established.

The unit does not have to be one underscore, it can be any length

1=measure (___: )
2=measure (_ )
3=measure (_ )

4. Now, given any ratio which has quotientness, we can give its

measure a name (called a number) by using the natural
numbers:

Name of measure = 1/2

Name of measure = 2/4



Note that 1/2 = 2/4 because we are using the same ABSTRACT
UNIT whose size and type is irrelevant.

Name of measure = 1/1 or just 1
Name of measure = 2/1 or just 2
Name of measure = 4/2 or just 2

In geometry, ALL ratios have quotientness and all the operations
of arithmetic (difference, sum, quotient, product) are 100% exact.

5. If however, a given ratio does not have quotientness, such as
circle periphery : circle diameter (whose measure is assumed
to be the constant i) or square side : diagonal (whose measure
is assumed to be the constant v/2 ), then we cannot measure it
using any unit. The best we can do, is give an approximate
measure as | have explained in my video about m called History of
Areas.

(*) TnAIkdTNTA (Pee-lee-cot-eat-uh with accent on cot) does not
refer to number, only to magnitude or size. The evolution of
number is summarised below:


https://www.academia.edu/69488136/Theory_of_fractions_from_Book_5_of_Elements_for_Dummies
https://www.academia.edu/69488136/Theory_of_fractions_from_Book_5_of_Elements_for_Dummies
https://youtu.be/RKEntTWpaIQ
https://youtu.be/RKEntTWpaIQ
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A number is a NAME given to a MEASURE of a ratio of MAGNITUDES.

What about ratios that have no quotientness?

Constant Tt = Failed Measure ( /:—)
This part has no measure./

Other common ratios which have no measure are the
constants V2 and e. There are innumerably many ratios
without measure. To be a number implies rationality and
ratio implies number.



O vowyv vosITWw.

(Who is able to understand, understands)

John Gabriel

The discoverer of the New Calculus, the first
rigorous formulation in human history. It is
possible more advanced alien civilisations
know of it already. Learn how | exposed the lie
that calculus was made rigorous.



https://www.academia.edu/41616655/An_Introduction_to_the_Single_Variable_New_Calculus
https://www.academia.edu/62358358/My_historic_geometric_theorem_of_January_2020
https://www.academia.edu/62358358/My_historic_geometric_theorem_of_January_2020

Katavénon tng £€vvolag Tou apibuou.

O apIBud¢ cival n o onuavTiki évvoia o€ OAa Ta
MaBnuaTIKa ka1 og KABe GANo TTedio STEM.

Ta paBnuaTIKA gival n €TICTHMN TOU HETPOU KOl TOU
apI0uov.

1. MTTOpOUNE Va TTAPOUNE 10€a YIa TO HEYEBOC HOVO OUYKPIVOVTAG
Eva 0edOoPEVO HEYEDOG PE AANO PEYEDOG - apXIKA HOVO OUOIOYEVN

MEYEDN, yIa TTAPAdEIYUA UAKOG THAMATOC YPOUNAG O OUYKPION HE
MNKOC TUAMATOC YPAPMNAG, EMBAdOV 0€ OUYKPION HE EUPAOOV K.ATT.
Mia T€ETola oUYKpIon ovouddeTal avaAoyia.

2. M1ropoupe va €TTIAECOUHE Eva KOIVO HEYEDOG WG EpyaAEgio
METPNONG. To ovoualouue Hovada Kal XPNOIMOTTOIOUME Th
Hovada R/kal ica uépn TnG yia:

(i) va TTpocdiopicoupe TTpwTa €AV N avaloyia €Xel TTNAIKOTNTA
(ZToixeia, BiBAio V, Opioudg 3) (*) - TTou anuaivel 0TI TOOO TO
TTPONYOUHEVO OO0 Kal Ta ETTAKOAouBa pépn Tou AOyou PTTOpoUV
va JETPNBoUV atrd Tn povada i/kai ica pépn Tou. Agou
eOPAIWOEI auTd, ETTIAEYOUNE TO

(ii) eTTakOAouBo W¢ PEPOG METPNONG - QUTO gival aTTAwG ocuupaon
e1Te10n oI 'EAANVveEC EBAeTTAV TO TTPONYOUUEVO NEPOC TNG avaAoyiag
WG TO MEYEBOG TTOU PETPIETAI I UTTO EEETAOT).



3. Acdopévou OTI Ta eTTakdAouBa Twv avaAoyiwy UTTOPED va gival
OTTOI00NATTOTE HEYEDBOGC, ayvoouue To NEYEBOC yia va KaBopiooupe
auTd Ta €181IKA KAdopaTa 1Tou ovopdalovtal @YZIKOI APIOMOI -
apPIOUOI TWV OTTOIWYV 01 TTPONYOUUEVEG (apIBUNTES) ival
TTOANQTTAGOIO TNG JOVADAC KAl TWV OTTOIWV Ol ETTAKOAOUBEC
(TrapovouaoTEG) gival n povada. O Quaikoi aplBuoi uTToBEToUY
Mia AGPHPHMENH MONAAA, dnAadn pia govada Tng oTroiag To
MEYEOOG Kal 0 TUTTOG €ival yevikd (doxeta). MNa TTapadeyua, 1o 1
MTTOPEI va TTEPIYPAWYEI TO HETPO TOU JAKOUG, TOU EUPAOOU K.ATT.
TTAPOAO TTOU OI TUTTOI €ival OIOPOPETIKOI.

1=pétpo(_: )
2=pétpo(_ _: )
3=pétpo(_ )

Kai oUTw kaBe¢nc, kaBopilovtal 6Aol ol apiBuoi héETpnong.

4. Twpa, dedopEvou OTToIoUdNTTOTE AOYOU TTOU £XEI TTNAIKOTNTA,
MTTOPOUUE VA OWOOUNE OTO METPO TOU £VA OVOHA (TTOU
ovopaderal Gplﬂpég) XPNOIMOTTOIWVTAG TOUG (PUOIKOUG
apIOuouc:

Ovopa pétpou = 1/2
Ovopa uétpou = 2/4

2NUEIWOTE OTI 1/2 = 2/4 €11€10) XPNOIMOTTOIOUME TNV idla
AOHPHMENH MONAAAZ 1n¢ o1roiag 10 HEYEBOG Kal O TUTTOG
gival AoxeTol.

Ovopa pétpou = 1/1 4 yévo 1



Ovopa pétpou = 2/1 A uévo 2
Ovopa pétpou = 4/2 ] OIS 2

5. Eav, wotdoo, évag dedopévog Adyog dev £xel TTNAIKOTNTA,
OTTWG TTEPIPEPEIN KUKAOU : SIAUETPOS KUKAOU (TO METPO TOU
oTToiou Bewpeital OTI gival N oTaBePd TT) 1 TETPAYWV TTAEUPA :
Olaywviog (To JETPO TOU OTToioU Bewpeital OTI gival n oTaBepa
V2 ), T0TE BEV PTTOPOUNE VO TO HETPHCOUNE XPNOIUOTTOIVTOC
Kaia povada. To KaAUTEPO TTOU PNTTOPOUNE VA KAVOUUE, €ival va
OWOOUNE EVA KATA TTPOCEYYION METPO, OTTWG £XW £ENYNROEI OTO
Bivted pou yia 1o 1T TToU ovouddeTal loTopia EpBadov.

(*) H TnAIkOTNTA SV ava@EpeTal aTov aplOpd, povo o€ péyedog.

O vOWwYV VOEITW.

John Gabriel

O avakdaAuyng Tou New Calculus, Tng
TTPWTNG auoTNPNGS d1aTUTTWONG OTNV
avBpwrivn 1o0TOopia. Eival ifavé 1o


https://youtu.be/RKEntTWpaIQ

TTpoNnyHEVOI EEWYRIVOI TTOAITIOHOI VA TO
yvwpidouv non.



